MEL-23100W

www.maxximastyle.com

allMaxxima
INSTALLATION INSTRUCTIONS

2\ WARNING:

To avoid fire, shock, or death. Disconnect power at circuit breaker or fuse before the installation.

Wear gloves to prevent cuts/abrasions from sharp edges when removing from carton,handling,
and maintaining this fixture.

I\ SAFETY:

This fixture must be wired in accordance with the National Electric Code and applicable local
codes or ordinance.

If you are unfamiliar with proper electrical wiring connections, please consult a qualified
electrician.

To insure personal safety, proper grounding is required.

IMPORTANT:

Read all instructions carefully before attempting installation.

TOOLS REQUIRED:

Phillips Ladder Safely
Screwdriver Goggles
V) &
Product size:
Unit: mm
/@K
3 — C
o T 1 ]
3
3
©
S
: LIGHT FIXTURE
SPECIFICATION:
Input Voltage: 120V AC
Input Frequency: 60 Hz

[ I I | [
| | L
4! 195mm/7.68” ‘ ‘ 110mm/4.33"_|

Rated Power: 23W

WARRANTY:

Maxxima extends a 5 year limited warranty to the original purchase that the products listed are free
from defects in material and/or workmanship only. Maxxima will replace any warranted product to
the original consumer/purchaser if the product fails because of defects due to workmanship and/or
materials within the limited warranty period. Limited warranty is not transferable and applies to the
original installation of the Maxxima product. This offer does not constitute in any way a product
guarantee and Maxxima does not hereby assume any obligation whatsoever beyond sending a
free replacement product.

1 | Outlet box

2 | Cross bar bracket

3 | Black supply wire

4 | Twist-on wire nuts connectors
5 | Black fixture wire

6 | 8-32*15 machine tapping screw
7 | M4*14 machine tapping screw
8 | White supply wire

9 | House ground wire (Green)
10 | Fixture ground wire (Green)
11 | White fixture wire

12 | M4*7 hand nuts

13 | Back plate

INSTALLATIONS:

1. Turn off power at the corresponding circuit breaker.

2. Carefully disconnect and remove the old light fixture.

3. Locate and pull out the supply wires (#3#8#9) from the outlet box (#1).

4. Install the cross bar (#2) on the outlet box (#1) by using the machine tapping screw
(#6).Avoid pressing the wires (#3#8#9).

5. Make the wiring connections by using twist-on wire nuts (#4).Do not leave bare
conductors exposed.
Connect the white fixture wire (#11) to the white supply wire (#8)
Connect the black fixture wire (#5) to the black supply wire (#3)
Connect the green fixture ground wire (#10) to the green ground wire (#9).If you don’t
have a green ground wire, please consult a qualified electrician.

6. Adjust the upper cross bar (#2) to be in a horizontal position.

7. Insert the M4*14 machine tapping screw (#7) through the hole in the back plate (#13)
of the fixture, and tighten by using the M4*7 hand nuts (#12).



